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QUESTION 1

I was discussing my new service with a client who told me that my technical service contract revealed too much
information about the underlying service design. For example, based only on the names of my service capabilities, my
client could determine that the service was using an Oracle database. What service-orientation principle should I apply
to address this problem? Select the correct answer. 

A. Service Reusability 

B. Service Discoverability 

C. Service Autonomy 

D. Service Abstraction 

Correct Answer: D 

 

QUESTION 2

Which of the following statements is true? Select the correct answer. 

A. A service inherits its functional context from its capabilities. 

B. A service capability inherits its functional context from other capabilities within the same service. 

C. A service inherits its functional context from other services, especially in complex compositions. 

D. A service capability inherits its functional context from its service. 

Correct Answer: D 

 

QUESTION 3

A service is sometimes referred to as an enterprise resource because: Select the correct answer. 

A. It establishes itself as a resource that is of use to more than one part of the enterprise. 

B. It can only be defined by enterprise architects. 

C. It always depends on the availability of enterprise legacy systems. 

D. None of the above. 

Correct Answer: A 

 

QUESTION 4

The enforcement of service contract design standards is required to effectively apply the Standardized Service Contract
principle. Select the correct answer. 
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A. True 

B. False 

Correct Answer: A 

 

QUESTION 5

A service-oriented solution can be comprised of which of the following core architectural elements? Select the correct
answer. 

A. messages 

B. services 

C. contracts 

D. All of the above. 

Correct Answer: B 
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